NAME........................................................................................ADM NO............CLASS..............

ELERAI MCK GIRLS’ SEC. SCHOOL

MATHEMATICS FORM 4
TERM I OPENER EXAM
TIME: 1 HR
(50MARKS)

Answer all questions in the spaces provided below each question
1) Use logarithms tables to evaluate







(3mks)


6.49 x 0.006329

      Tan 69.210

2) Make q the subject of the formula






(3mks)

r =     p – q

         p + pq

3.) Use matrices to solve the simultaneous equations.




(3 mks)

4x – by = 13

3x – 2y = 8

5.  (a)  Expand (1 – 2x)6  in ascending powers of x upto x3. 


                   (2mks)


(b)  Hence evaluate (1.02)6 to 4 d.p. 





       (2mks)

6. A bus left a petrol station at 9.20 am and travelled at an average speed 75km/h to a town N. At 9.40 am a taxi, traveling at an average speed of 95km/h, left the same petrol station and followed the route of the bus.

Determine the distance, from the petrol station, covered by the taxi at the same time it caught up with the bus.









 (3 mks) 

8. A Kenyan company received US dollars 100, 000. the money was converted into Kenyan shillings in a bank which buys and sells foreign currencies as follows;
Buying






Selling

(in Kenyan shillings)




(in Kenyan shillings)

1 US dollar 

77.24






77.44

1 sterling pound
121.93






122.27

a) Calculate the amount of money, in shillings, the company received.

(1 mks)

b) The company exchanged the Kenyan shillings calculated in (a) above, into sterling pounds to buy a car from Britain. Calculate the cost of the car to the nearest sterling pound.
(1 mks)

9. Using a ruler and a pair of compasses only, construct a rhombus QRST in which angle TQR = 600 and QS = 10cm. 








(2 mks)

10. A school water reservoir is supplied with water by two pumps P and Q. The probability that pump Q fails is 1/10 and the probability that Q fails is 1/5. 

a) Draw a simple tree diagram to illustrate this information.


(2 mks)

b) Calculate the probability that;

i) both pumps are working.






(2 mks)

ii) Both pumps are not working.






(2 mks)

Iii) Only one pump is working.






(2 mks)

iv) At least one pump is working.






(2 mks)

11. In the figure below, ABCDE is a pentagon inscribed in a circle.  CX is a tangent  to the circle at C and EDX is a straight line (ADE = 340, (CAD = 420, AB=BC and BC is parallel to AD.

[image: image1.png]




Giving reasons in each case, determine:-


(a)  (ABC









(2mks)


(b) (ACD.









(2mks)


(c )  (EAD









(2mks)


(d)  (CXD









(2mks)


(e)  Given that ED = 5cm and DX  4cm, calculate length CX.


(2mks)

12. Income rates for income earned were charged as follows.

Income in sh. per month

Rate in Kshs. per sh. 20

1 – 8400



2

8401 – 18000


3

18001 – 30000


4

30001 – 36000


5

36001 – 48000


6

48001 and above


7

A civil servant earns a monthly salary of Kshs. 19,200. His house allowance is Kshs. 12000 p.m. Other allowances are shs.13000 for transport and shs.2, 300 for medical on monthly basis. He is entitled to a family relief of Kshs. 1240 p.m. Determine.

a) i) His monthly taxable income







(2mks)

ii) Net PAYE









(5mks)

b) In addition, the following deductions are made on his monthly salary:

 NHIF shs. 230

Service charge  shs. 100

Loan repayment shs. 4,000

Co-operative shares shs. 1,200


Calculate his net pay per month.







(3mks)
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